1.ERE (BE)

1 LTw3
2 LTuhimn

13 (36.1%)
23 (63.9%)

4006 ABEK

DB

N=306

147 (48.5%)
156 (51.5%)

Total

N=342

160 (47.2%)
179 (52.8%)

NI

2.EZER

1 LTw3
2 LTuhimn

12 (33.3%)
24 (66.7%)

59 (19.5%)
243 (80.5%)

71 (21.0%)
267 (79.0%)

3. FiEEiE

1 LTw3
2 LTuhimn

31 (88.6%)
4 (11.4%)

221 (72.7%)
83 (27.3%)

252 (74.3%)
87 (25.7%)

1 LTWw3
2 LTuhiamn

4 (11.1%)
32 (88.9%)

56 (18.9%)
241 (81.1%)

60 (18.0%)
273 (82.0%)

1 LTWw3
2 LTuhiamn

25 (71.4%)
10 (28.6%)

164 (54.3%)
138 (45.7%)

189 (56.1%)
148 (43.9%)
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1 LTWw3
2 LTuhiamn

11 (30.6%)
25 (69.4%)

133 (43.6%)
172 (56.4%)

144 (42.2%)
197 (57.8%)

LGRS

1 LTWw3
2 LTuhiamn

13 (36.1%)
23 (63.9%)

102 (33.7%)
201 (66.3%)

115 (33.9%)
224 (66.1%)

8EEEIY

1 LTw3
2 LTuhiamn

9 (25.0%)
27 (75.0%)

87 (28.7%)
216 (71.3%)

96 (28.3%)
243 (71.7%)

9.kHEEtL Y R —~DHTE

1 LTw3
2 LTuhiamn

1(2.8%)
35 (97.2%)

18 (6.1%)
277 (93.9%)

19 (5.7%)
312 (94.3%)

1 LTw3
2 LTuhziamn

21 (58.3%)
15 (41.7%)

196 (64.9%)
106 (35.1%)

217 (64.2%)
121 (35.8%)

10 EEHEE
LN EREEES DT

1 LTW3
2 LTl

13 (39.4%)
20 (60.6%)

66 (22.1%)
233 (77.9%)

79 (23.8%)
253 (76.2%)

12.EREBREEDIEK

1 LTW3
2 LTl

34 (97.1%)
1(2.9%)

232 (76.8%)
70 (23.2%)

266 (78.9%)
71 (21.1%)

13 FERIR SR D K hE

1 LTW3
2 LTl

9 (25.0%)
27 (75.0%)

63 (20.8%)
240 (79.2%)

72 (21.2%)
267 (78.8%)

14ASEDRERE

1 LTwW3
2 LTl

7 (19.4%)
29 (80.6%)

26 (8.7%)
274 (91.3%)

33 (9.8%)
303 (90.2%)

15 & MDFE - BiE

1.FE-B&dl)

10 (66.7%)

90 (32.0%)

100 (33.8%)

2 REE - LAn 0 (0.0%) 39 (13.9%) 39 (13.2%)

3 hh oA 5 (33.3%) 140 (49.8%) 145 (49.0%)

4 Z D 0 (0.0%) 12 (4.3%) 12 (4.1%)
16. B CEEREHED FE 1 FEHRL 13 (86.7%) 231 (81.6%) 244 (81.9%)

2 ¥ E 0 (0.0%) 6 (2.1%) 6 (2.0%)

3_—EBERDORFETE 0 (0.0%) 2 (0.7%) 2 (0.7%)

4 HhH S 2 (13.3%) 44 (15.5%) 46 (15.4%)
17 B E i 70 (63-75) 65 (55-72) 65 (56-72)
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